@ 3.54

3 0.1010010001 - - -



o, o= & x 2 gl & 5

el

o

<+

(i)l

my

Y

mH

<

<

Tod

oF

o -
m olJ
o

LAl

(-

@ 5 ® 6 @ 7 ® 8

@D 4



rlo £t

S % x = 13.5434343 ... & BE52 UJEH= AlAto| A 2ol A]
{7

@ 10x-=x @ 100x — x

@ 100x — 10x 3 1000x — 10x

@ 1000x — 100x



A 1.012222 - ,gura}w o, A< a,b o ot b -a 9
2?7 (&, a,b = A 24 olt})

@D 11 ® 101 3 900 @ 999 ® 1012



S3E AR 15E At

@ 3.1421

© 3.1412

© 3.14i

® 3.139







bl A

S

7b . a7h 10 ©]

@ 46 3) 48 @ 50 3 55

@D 40



o|J

)
Y

<+

® 3 ® 5 @ 7 ® 14

@D 2



T

N

<{F

Bl

=~

3

Y

~

<F

4

o

oF

B!

=y

ny

ay

4

S
a4 g

P
S
5 5

<

il AT

@ 16 ® 20

® 14

12

1



o9

o, a+ b2 G

SH
=

~ 1o

]

@ 7 3 10 @ 13 ® 14

@D 3



nJo
—l>

2 e, 0.216666 - -

B 41 @ 55

- Do, A% x 9]

B 60



et 2bE] AA 4 a O] = T Aotei et



57

=E

sf

AA x+0.07=0.4 9

LAy



1 —
4. 23
1___|_18 S
11 2 x
SF
ot uf
, xx (103
-1) 29 2=
3%
212
5t
oﬂﬂ-

al___l-:
o) G4



15.

@D 870

@ 97

3 107

@ 1174

G 1274



sholat,

?.

O
=

a7t 5 AL A4S W, a + b o 3



wl, 247 ofel 27 WA A o] 7

@ 4 3 5 @ 7 B 8

@D 2



18. the AL grEshs x o g2 Fohw?

D 05 @ 0.6 ® 0.7 @ 0.8 3 0.9



7 14 @ 16 B 21

D 3



20. 143 o oW 7R 4 B FohAEIY] 4488 of W%k 4 9 S
1wz otolet

e
c



